Which theory early in it’s history reacted to Wilhelm Wundt and his introspectionists, disagreeing with it’s emphasis on conscious experience?

a) psychoanalysis

b) behaviorism

c) gestalt

d)   humanism

  Who felt that his theory should ONLY be judged by it's clinical success?

a)     Erikson

b)     Skinner

c)     Freud

d)   Rogers

Which of the following theories would be most economical?

a) Freud's psychoanalytic theory

b) Erikson's psychosocial theory

c) Roger's humanistic theory

d) Skinner's theory of operant conditioning

Mary is 24 years old, and is having difficulty with relationships.  She has dated a number of men that she liked, but eventually she always ends up ending the relationships, seemingly without any good reason.  Afterwards she tends to regret the decisions, and now is unhappy because she is alone.

     How would a) a behaviourist  (Skinner’s operant theory) , b) a Rogerian and c) an Eriksonian approach Mary’s case?  For each tell me 1) where each theory would lead you to look to understand Mary’s problem, specifically and 2) one important feature of how each approach would set out to help Mary.

  (2 marks each = 6 marks)

